AV EERRERFA ) H108#]11° >R HE
T e | RS .

HE | 28 OB N i At - . . B i) %’i@ BREH | Al | KR | HRER B
1IAIH| A A4 HERE+ORAE HARER Elii g eI s BRI FER HHES K KLEEEH ]+ fE0Y 7.5 2.2 1.5 1 1 1.9 989
1H4H| — IR 1+ 25 ERER IR 5 ST %k FER LIV K ALEFEENS 5.8 2.3 1.4 0 1 3.3 852
HASH| = /INHEIS L2 SN ] S FER U 7K [5G 6 1.7 1.9 0 1 3.8 339
11A6H| = SRERG( 1+ 22 EPRER (A EDK) =R R E FER TRARE S TR+ 6.1 1.3 1.2 1 1.5 2.2 895.5
11H7H| Filivawds: 7N FREE R FrR=EE FER Egilitea=e K i ERETS 7.6 1.6 2 0 1 2.2 879
11A8H| # FEINEAR 1+ oREE IRER TR T AR BT OIS K R/ NEZEF e | 6.2 1.9 1.3 1 1 2.5 924.5
HALHl — BEA* FRER AT FAaess FFER NEE N =g K LR 6.1 2.1 1.2 0 1 2.2 776.5
LHARH| =D PEE* + B A HEFWE FEHE FFER BRE K E I A0 6.7 2 1.4 0 1 3.3 901.5
HABHl = BEE+ A EPRER (A EDK) Sf s e ALEENE FER Eoav] TR+ ey 5.2 1.4 1.2 1 1.5 2.7 874.5
11A14H| T PAIRERZAE R BEFEEEA TEIOEEIT FER FEHH K FRES 6.7 1.3 2.4 0 1 2 797.5
1AISH| A FEEE A ERER RIS e fElISE isF LR KSR WEREECN* Y | 5.1 1.7 1.7 1 1 2.8 871
HAIBH| —@#) 7KE*3 ERER HEHsT [ dgish =g FER SR IR 7K TEAE/ING IS 5.6 2.4 1.7 0 1 2.8 812.5
LHAH| =D BRREG () * ]+ 8 EEFAF FEERACAHE isF NS 7K SR B 7.8 1.5 1.1 0 1 2.5 888.5
11H2H| = SRR kR ECRER (A ER) TERE AT IR FFER SHIHRE TR+ 4Ty 5 1.7 1.5 1 1.5 2.1 836.5
11H21H| T [/ NRRBI 1+ 2R 5% HARE ST Rk isF H = skng 7K SEEHEH RS 5.7 2.1 1.9 0 1 2.9 818.5
A2ZH| # e+ oREE /INKER 20 i et isF 45 KSR ERFTEIFZ 1+ ) 6.5 1.7 1.1 1 1 2.3 916.5
1H2SH| — FEAEBEE 2 MR FRHAE SRR AR FFER BRI 7K 4LEREDS 5.5 1.9 1.7 0 1.01 2.8 783.6
1H26H| (55 TR 142855 SEGEIRER TR/ 2 5 VRIS 7K A 47 6.7 1.4 1.5 0 1 1.9 772
HAZH| = FRE + B A ECRER (A ER) [El§E A H T E 5 HAAEES 7K + Yy 5.2 1.5 1.1 1 1.5 3.1 906.5
11H28H| 4 e ] IINKER R T R 5 FORELE KSR bisy (B 6.5 1.8 2 0.1 1 2.5 846
1HAWH| # EREREEL] + 2R HEKER W ER I TR 5 AE S 7K At E]*] 4 G 6.4 1.6 2.1 1 1 1.6 877.5

LRSS  HEE - BET  AEET - 58 WET - HHEE - F2H - 55 - R BIERIE R -

AR LS PR R

Gl e AR A E]




